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LimitExercise0l for No.2
5 ,a:O}
|x +2x

| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001|.. Ja = Of...| 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

Nol :[f(x) =

X

3x
AbZz{ﬂx)z 1,a=0}

e_
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
7-8x+x
No3=|f(x)=—",a=1
—-1+x
x | 0.8000] 0.9000] 0.9900] 0.9990] 0.9999|.. Ja = 1]...] 1.0001] 1.0010| 1.0100| 1.1000| 1.2000]
1 —cos(x)
Nod=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
I —x
NoS=|f(x)=—="",a=1
Jx -1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]

No6=[a=-9,=-6,y=-1,0=5,e=8]
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LimitExercise0l Answers for No.2

Ans01 >
x | -0.2000] -0.1000|] -0.0100| -0.0010| -0.0001]...| a= 0 [...] 0.0001| 0.0010| 0.0100] 0.1000] 0.2000]
f(x)| -1.1111|] -1.0526| -1.0050|] -1.0005| -1.0001|...]lf( O) = undefined|...| 1.0000|] 0.9995|] 0.9950|] 0.9524| 0.9091]
lim f(x)=-1.0000, , lim f(x)=1.0000, , lim f(x)=does notexist, ,"# f(x) is discontinuous at x = 0"
x—0- x— 0+ x—0
Ans02 >
x | -0.2000| -0.1000] -0.0100| -0.0010| -0.0001]...]| a= 0 [...] 0.0001| 0.0010| 0.0100] 0.1000] 0.2000]
f(x)| 3.3100] 3.1525| 3.0150|] 3.0015| 3.0002|...]lf( O0) = undefined|...| 2.9999| 2.9985| 2.9850| 2.8525| 2.7100]
lim f(x)=3.0000, , lim f(x)=3.0000, ,lim f(x)=3.0000, ,"# f(x)is discontinuous atx =0"
x—0- x— 0+ x>0
Ans03 >
x | 0.8000] 0.9000] 0.9900] 0.9990| 0.9999|...| a= 1 [...] 1.0001] 1.0010| 1.0100|] 1.1000| 1.2000]
f(x)| -6.2000] -6.1000|] -6.0100| -6.0010| -6.0001|...[f( 1) = undefined|...| =-5.9999| -5.9990] -5.9900| -5.9000| -5.8000]
lim f(x)=-6.0000, , lim f(x)=-6.0000, ,lim f(x)=-6.0000, ,"# f(x) is discontinuous atx =1"
x—1- x— I+ x—>1
Ans04 >
x | -0.2000] -0.1000|] -0.0100| -0.0010| -0.0001]...| a= 0 ...l 0.0001] 0.0010| 0.0100|] 0.1000|] 0.2000]
f(x)| -0.0997| -0.0500|] -0.0050| -0.0005| -0.0000|...[f( O) = undefined|...| 0.0000] 0.0005| 0.0050| 0.0500| 0.0997]
lim f(x)=0, , lim f(x)=0, ,lim f(x)=0, ,"#f(x)is discontinuous at x = 0"
x—0- x— 0+ x—0
Ans05 >
x | 0.8000] 0.9000] 0.9900] 0.9990| 0.9999|...| a= 1 [...] 1.0001] 1.0010| 1.0100|] 1.1000| 1.2000]
f(x)| -1.8944] -1.9487| -1.9950| -1.9995| -1.9999|...|f( 1) = undefined|...| -2.0000| -2.0005| -2.0050] -2.0488| -2.0954]
lim f(x)=-2.0000, , lim f(x)=-2.0000, ,lim f(x)=-2.0000, ,"#{(x)is discontinuous atx=1"
x—1- x— 1+ x—1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans06 -9 | 4 | 4 | -infinity | DNE | Discontinuous
-6 | 5 | 3 | 3 3 | Discontinuous |
-1 01 2| 2 2 | Discontinuous |
5 | 3 3 3 3 | Continuous
8 | 2 2 2] 2 | Continuous
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